LLA(®)]= F(5), then prove that L[F(ar)]= lF(ﬁ) SRR
' ' "::-' - ,‘7-».7_" SRR S oidesaxa)

10 a" Solve by Gauss-Jordan method the equatlons..a-“'--'-e‘_‘3'.“‘”' o
L 2x+y+4z 12 e

(5 x 6‘V 30)

| ST ERR 20 e e
b:, Dlagonahse 1the matnx 2 S 1

e 14 @ . Soly theequatxon%ﬁ‘t% * 13y= 2e glveny= 0%" -1

b Sh0\ 4 that the SOlllthll of the d1fferent1a1 equatlon %3’—+4y Asmpt wmch 1s such’ i

- o d“” R S : s1npt—-£s1n2t ;
.—Oand —Z—Owhent 01sy A 2 1fp¢2
_ SR dr 4 p U
'515 a Sol‘ e by Gauss1an ehmmatlon procedure the equatlons
. 5i15x 196y+3 85:=12.95 . . . . .
2 13x+5 12y 2 89z—‘-—8 61

‘"-5.‘92x+3 05y+2 lSz 6 88

B b S jolve by Gauss—J acob1 method of 1terat10n the equatlons
l7x+6y-z—85 I N
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- SECTION-A (10 Marks)
Answer ALL questions . '
ALL questions carry EQUAL marks (10x1=10)
1. Let T,be an estimator of 0.IfE(T,) = 0, then . | :
(i) T, is a sufficient estimator of 8 (ii) T is an unblased estimator of
(iii) T, is a consistent estimator of ¢ (iv) T,, is an efficient estimator of 8
2. If Ty and T, are consistent estimators and if V(T;) < V(T5), then
(i) T; is more efficient than T, (ii) T, is more efficient than T
(iii) T; and T, are equally efficient . (iv) T, and T are not efficient

3. Ifxy, 562. s X, be a random sample from a population p*(1 —p)*~* for x = 0,1 ond
0 < p < 1, the sufficient statistics for pis: ;

(1) Xies xi ) - | 7 (ll) Meax
(iif) XiZ1 x; - (@) Zilogx;
4, Factorisetion theorem for sufﬁcie'ncy is known as
() Rao-Blackwell Theorem ~ (ii) Cramer-Rao Theorem
(iii) Fisher-Neyman Theorem (iv) Neyman-Pearson Theorem.

5. Method of moments for estimating the parameters was discovered by
(i) Jerzy Neyman (ii) Cramer Rao |
 (iii) R.A.Fisher (iv) Karl Pearson

6. 'In random samphng from normal populatlon N ([.t, 0%) the maximum likelihood
estimator for o2 is

007 =2ThGa-w? @0 =N Gq—w)
(i) 6% = a0 () 8% = % TPy =

7. 95% conﬁdence 1nterval for the mean u of a normal populatron N ([.t, a?) w1th known
o is:

M (-196 < /\/_5196) | @) (-2 /r— 58)

(111) ( 1 96<=E<1. 96) ' (1v) (—2 58 < £ <2 58)
8. The term (1 a) refers to the o »

v(1) level of confidence plusone . -~ (ii) level of significance

(111) level of conﬁdence minus one - (i) conﬁdence coefﬁcrent ’

9. Samplmg distribution of R (run) can be approx1mated by , with known mean and
“standard deviation.
(i) poisson distribution (n) uniform distribution
(iii) normal distribution (iv) binomial distribution
' Cont...



